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Ifg = g = g = 3a+2b_c, find the value of k?
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can't say

Twice the square of a number is six times the other
number. What is the ratio between the first number
and the second number?
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If x:y:z=1:2:3, then what is the
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94 is divided into two parts in such a way that
P

the fifth part of the first and the eighth part of
the second are in the ratio 3: 4. The first part is:
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Three persons A, B and C whose salaries
together amounts to Rs.77000 spend
80,85 and 75 percent of their salaries
respectively. If their savings are in the ratio
8:9:10, then A’s salary is
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The ratio of expenditures of A, B and C is

16 : 12 : 9. If they save 20% 25% and 40%

of the income then the total income HB

and Cis Rs35700. Find their individual

income.
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The duplicate ratioof pand qis9: 4.If p +
q = 80, find q?

p 3 q 1 gRET I 9:4 B, IR
p +q = 80%a q FT AR AT
a) 40 b)36 (B2 d) 44

P9 =aty
wib
P:CL:.'S"{@
\

5

| | 20



The sub duplicate ratio of a and bis 4 : 1. If
a-b = 60,finda + b?
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The compound ratio of inverse ratios of the
ratiosx : yz,y: zx,z : xy is
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